Unilateral Laplace Transforms

Learning Objectives Tale unilateral Laplace transforms Use transform properties to simplify transforms Explain the connection between the LCODE and LTI system analysis. Solve LCODES Using Laplace transforms Find the zero-input/zero-state outputs of an LTI system based on an LCODE with initial Conditions

Compute the transvent and steady state behavior est systems governed by LCCDEs Cor equivalently, with a vational transfer function). The unilateral Laplace transform is a special case of the bilateral Laplace transform restricted to XLt) that are = 0 for t < 0.

-Since cuusal LTI systems have an impulse vesponse that itt O for t<0, we sometimes call the impulse response causal as well. This is confusing - causality is a system property, not a signal property. And then to make things worse, we call signals causal if they are zero for t<0. What a terrible state of affairs! If you are learning this stuff for the first time then it can be tough. Here's a mental rewrite:

> x(E) is causal "the LTI system with impulse response"

Not So the milateral haplace transform is the same as the bilateral transform of x(t) is causal.

$$X_{u}(s) = \int_{0}^{\infty} x(t) e^{st} dt = \int_{-\infty}^{\infty} x(t) e^{-st} dt$$

if $x(t)$ causal

Another way to tunk about this is to take the bilateral Laplace transform of nc(t) ult). why do we need the unilateral transform? It makes things simpler - since x(t) is causal

we know that the ROC of X(s) is a right half-plane. That makes taking inverses for rational X(s) very easy, since each term in the partial fraction expansion maps to the causal version. That means most of the ROC stuff that we had to cave about for bilateral transforms goes away.

We still have to care about the ROC to address issues of stability, since the ROC has to contain the imaginary axis.

We're already computed lots of Laplace transform pairs:

$$S(t)$$
 1
 $U(t)$ $\frac{1}{5}$
 $e^{-\alpha t} U(t)$ $\frac{1}{5+\alpha}$
 $\cos(\omega_0 t) U(t)$ $\frac{S}{5^{2}+\omega^{2}}$ etc...

Similarly, all of the properties from bilateral Laplace transforms carry over:

$$\chi(t-\tau)u(t-\tau) = e^{-ST} \chi_{i}(s)$$

$$e^{at} \chi(t) \qquad \chi(s+a)$$

$$\chi(at) = a > 0 \qquad \frac{1}{a} \chi(\frac{s}{a}) = t = ...$$

And of course, most importantly ...

$$\chi_{i}(t) * \chi_{i}(t) \xleftarrow{\mathcal{L}} \chi_{i,i}(s) \chi_{i,i}(s)$$

The unilateral Laplace transform is most useful for studying linear constant coefficient differential equations (LCCDES). Lots of LTI systems can be expressed as LCCDES — in particular, systems which have rational Laplace transforms. To get a handle on this we need to look a bit more at the calculus-related Laplace transform properties:

$$\frac{d}{dt} x(t) \qquad S X(s) - x(o^{-})$$

$$\frac{d}{dt^{2}} x(t) \qquad S^{2} X(s) - S x(o^{-}) - \frac{d}{dt} x(o^{-})$$

$$\int_{0^{-}}^{t} x(t) \delta \tau \qquad \frac{1}{5} X(s)$$

$$\frac{t}{5} x(t) \qquad -\frac{d}{5} X(s)$$

$$\frac{1}{t} x(t) \qquad \int_{s}^{\infty} X(o^{-}) d \sigma$$

$$x(o^{+}) \qquad \lim_{s \to \infty} S X(s)$$

$$\lim_{t \to \infty} S X(s)$$

Let's do some examples to get a feel for these.

Example. Find the Laplace transform of sim (wort) u(t).
We have
$$\frac{d}{dt} \cos(\omega_0 t) = -\omega_0 \sin(\omega_0 t)$$

thus: $-\frac{d}{dt} \frac{1}{\omega_0} \cos(\omega_0 t) \stackrel{\mathcal{X}}{\leftrightarrow} - \frac{S}{\omega_0} \left(\frac{S}{S^2 + \omega_0^2} - \left(-\frac{1}{\omega_0}\right)\right)$
 $= \frac{-S^2/\omega_0}{S^2 + \omega_0^2} + \frac{1}{\omega_0}$
 $= \frac{\omega_0}{S^2 + \omega_0^2}$

But there are other ways we can do this; $\int_{0}^{t} \cos(\omega_{0}\tau) d\tau = \frac{1}{\omega_{0}} \sin(\omega_{0}t)$ So $\sin(\omega_{0}t) u(t) \xleftarrow{t}{s} \omega_{0} \frac{1}{s} \frac{s}{s^{2}+\omega_{0}^{2}}$ $= \frac{\omega_{0}}{s^{2}+\omega_{0}^{2}}$

That was a lot easier! The noval of the story (or example) is that much like doing integrals, finding the right Laplace transform properties to use is a little bit of an art - you can get a feel for the "tricks" as you do more examples.

<u>Example</u>: Find the Leplace transform of sin²(zt-4) u(t) what to do? We want to manipulate the expression so we can use Laplace transform properties. We can try to build it up in stages. We need ar

good old double angle for un la: $cos(2A) = cos^{2}(A) - sm^{2}(A)$ = $l - 2 sm^{2}(A)$ $Sim^{2}(A) = \frac{1}{2}(1 - \cos(2A))$ Now setting A = 2t - 4: $5\ln^{2}(2t-4)o(t) = \frac{1}{2}(1-cos(4t-8))o(t)$ Taking haplace transforms of both sides: $L\{s_{1}, s_{2}, s_{2}$ -{ 1 cos(2t-8)u(t) So now we need to find the Laplace Transform of cos(4+-8) u(t). The next step is to Eulerize: $\int \cos(4t-8) v(t) e^{-st} dt$ $= \int_{\infty}^{\infty} \frac{1}{2} e^{j(4t-8)} e^{-st} dt$ + $\int_{2}^{\infty} \frac{1}{2} e^{-j(4t-8)} e^{-st} dt$ = - e- 18 g e i 4t 7 + + e i 2 { e - 1 4t } $= \frac{1}{2}e^{-j8}\frac{1}{s-4j} + \frac{1}{2}e^{j8}\frac{1}{s+4j}$ $= \frac{1}{2} \left(\frac{e^{-j^{8}}(s+4j) + e^{j^{8}}(s-4j)}{2} \right)$ $= \frac{5 \cos(8) - 4 \sin(8)}{5^2 + 16}$

Putting it together: $2\{\sin^2(2t-4)\} = \frac{1}{2}(\frac{1}{5} - \frac{5\cos(8) - 4\sin(8)}{5^2 + 16})$

$$\begin{aligned} \begin{array}{c|c} \mu \omega n \\ \hline \\ Let's \ look \ at \ phase \ shifts \ move \ generally: \\ \hline \\ & \mathcal{I} \left\{ \cos\left(\alpha t - \beta\right) \right\} = \int_{0}^{\infty} \cos\left(\alpha t - \beta\right) e^{-St} \ dt \\ & = \int_{0}^{\infty} \frac{1}{2} \ e^{j\left(\alpha t - \beta\right)} \ e^{-St} dt + \frac{1}{2} \int_{0}^{\infty} \frac{1}{2} \ e^{-j\left(\alpha t - \beta\right)} \\ & e^{-St} \ dt \\ & = \frac{1}{2} \ e^{-j\beta} \ \frac{1}{S - j\alpha} \ + \frac{1}{2} \ e^{j\beta} \ \frac{1}{S + j\alpha} \\ & = \frac{1}{2} \ \left(\ \frac{e^{-j\beta} \left((S + j\alpha) + e^{j\beta} \left((S - j\alpha) \right) \right)}{S^{2} + \alpha^{2}} \right) \\ & = \frac{1}{S^{2} + \alpha^{2}} \left(S \cdot \frac{1}{2} \left(\ e^{j\beta} + e^{-j\beta} \right) + \alpha \ \frac{1}{2} \left(\ e^{j\left(\beta - \pi/2\right)} \right) \\ & = \frac{S \ \cos\left(\beta\right) - \alpha \ \sin\left(\beta\right)}{S^{2} + \alpha^{2}} \end{aligned}$$

As a samity check:
If
$$\beta = 2\pi$$
 then we get $\frac{S}{S^2 + \alpha^2} = \mathcal{L}\left[\cos(\alpha t)\right]$
If $\beta = \pi/2$ then we get $\frac{\alpha}{S^2 + \alpha^2} = \mathcal{L}\left[\sin(\alpha t)\right]$
If $\alpha = 2\pi f_8$ and $\beta = \pi$ then we get
 $\frac{-S}{S^2 + (2\pi f_8)^2} = \mathcal{L}\left[-\cos(\alpha t)\right]$

Example: Find the Leglace transform of
$$t^2 e^{-2t} \sin\left(\frac{\pi}{6}t\right) u(t)$$

Start with $d\left[\sin\left(\frac{\pi}{6}t\right) u(t)\right] = \frac{\pi}{6}$
Now take the derivatives:
 $d\left[t^2 \sin\left(\frac{\pi}{6}t\right) u(t)\right] = \frac{d}{ds} \frac{\pi}{(s^2 + (\pi/6)^2)^2}$

$$= \frac{(\pi/3) (s^{1} + (\pi/6)^{2})^{1} - (\pi/3) s 2 (s^{1} + (\pi/6)^{2}) 2s}{(s^{2} + (\pi/6)^{2})^{2} + 3}$$

$$= \frac{-\pi s^{2} + (\pi/3) (\pi/6)^{2}}{(s^{2} + (\pi/6)^{2})^{1}}$$
Finally, e^{-2t} sends $s \rightarrow s + 2$

$$\int \{t^{2} e^{-2t} s \cdot n(\pi/6) t \}$$

$$= \frac{-\pi (s+2)^{2} + (\pi/6)^{2} \pi/3}{((s+2)^{2} + (\pi/6)^{2})^{3}}$$

On the one hand, you night think this is horribly Ugly. On the other hand, thus is way easier than doing the integral $\int_{-\infty}^{\infty} t^2 e^{-2t} \sin(\sqrt[\pi]/6t) u(t) dt$

Example: For the previous example, find $\chi(0^{-})$ and $\chi(\infty)$. Here $\chi(\infty) = \lim_{t \to \infty} \chi(t)$. We use the substal and final value hearens. $\chi(0^{+}) = \lim_{s \to \infty} \chi(s) = 0$ since the behaviour has 5⁶ $\chi(\infty) = \lim_{s \to 0} \chi(s) = 0$ since the s doesn't cancel

These are very handy for studing transient and long term (steady-state) responses of systems. Man So what about differential equations? When we have a system as an LCCDE we can often interpret the input-output relationship in terms of derivatives:

$$q_{N}\left(\frac{d}{dt}\right)^{N} y|t) + q_{N-1}\left(\frac{d}{dt}\right)^{N-1} + \dots + q_{1} \frac{d}{dt} y|t) + q_{0}$$

$$= P_{M}\left(\frac{d}{dt}\right)^{M} x|t) + P_{N-1}\left(\frac{d}{dt}\right)^{N-1} x|t) + \dots + p_{1} \frac{d}{dt} x|t) + p_{0}$$

Taking Leplace transforms on both sides and assuming Zero initial conditions, each derivative turns into an s:

$$\left(q_{N} S^{N} + q_{N-i} S^{N-i} + \dots + q_{i} S + q_{o} \right) Y(s) = \left(p_{N} S^{M} + p_{N-i} S^{N-i} + \dots + p_{i} S + p_{o} \right) X(s)$$

Now, this report-output relationship is defining a system. This system is linear and time invariant.

LTI systems are characterized by their impulse response. Let's call the impulse response h(t). How can we find it from the LCCDE? Remember, the output y(t) is the convolution

$$y(t) = h(t) * x(t)$$

Convolution in time is multiplication in s:

$$Y(s) = H(s) X(s)$$

So we can write H(s) as $H(s) = \frac{Y(s)}{X(s)}$. This

is sometimes called the <u>transfer function</u> of the LTI system, since H(s) changes X(s) to Y(s) (by multiplication).

For our LCCDE, H(s) is rational:

$$H(s) = \frac{P_{M}S^{M} + P_{M-1}S^{M-1} + \dots + P_{1}S^{+}P_{0}}{Q_{N}S^{N} + Q_{N-1}S^{N-1} + \dots + Q_{1}S^{+}Q_{0}}$$

$$= C \frac{(s-a_{M})(s-a_{M-1}) \dots (s-a_{1})}{(s-b_{N})(s-b_{N-1}) \dots (s-b_{1})}$$

So as promised, LCCDES correspond to rational H(s). The transfer function view of systems makes formally inverting rational H(s) eas : y

$$\frac{1}{H(s)} = \frac{1}{C} \cdot \frac{(s - b_N)(s - b_{N-1}) \cdot \cdot \cdot (s - b_1)}{(s - a_M)(s - a_{M-1}) \cdot \cdot \cdot (s - a_1)}$$

If N > M then $1/H(s) = \frac{D(s)}{N(s)}$ has a higher degree in the numerator than the denominator — it is an improper rational function. That means as $S \rightarrow \infty$ there is a pole at ∞ so the inverse caunot be stable. IF NSM then the poles / zeros of H(s) became the zeros/ poles of 1/H(s) so to make 1/H(s) stable we need all of the Zeros of H(s) to be in the left half plane.

Putting this together, a stable and causal system with vational transfer function H(s) has a stable and causal inverse if and only if the # of poles 2 zeros is the same and all poles 2 zeros are in the LHP.

Ex
Example: Suppose
$$H(s) = \frac{4s+17}{s^2+7s+10}$$
.
Factorize:
 $H(s) = \frac{4s+17}{(s+5)(s+2)} \implies poles Q = -7/4$
2 poles , 1 sero \implies inverse is not causel 8 stable.
Example: Suppose $H(s) = \frac{s^2+3s+2}{s^2+s+3}$
poles 2 zeros is The same $\sqrt{2}$
 $\frac{1}{H(s)} = \frac{s^2+s+3}{s^2+3s+2} = \frac{(s-(-\frac{1}{2}+\frac{1}{2}\sqrt{n}))(s-(\frac{1}{2}-\frac{1}{2}\sqrt{n}))}{(s+2)(s+1)}$
Partial fraction expansion:
 $\frac{s^2+s+3}{(s+2)}|_{s=-1} = \frac{3}{1} = 3$
 $\frac{s^2+s+3}{(s+1)}|_{s=-2} = \frac{4-2+3}{-1} = -5$
 $\frac{1}{H(s)} = \frac{3}{s+1} - \frac{5}{s+2}$
 $h(t) = 3 e^{-t} u(t) - 5 e^{-2t} u(t)$
take causel inverse
(unilaterial Laplace transform)

Example:

Phil The precedung fact is one of the key results in LTI system theory: since

LCCDES 4-7 rational H(s)

this characterization of when stable/causal inverses exist covers all systems governed by simple differential equations.

The most common systems we have seen in earlier classes that correspond to LCCDEs come from RLC circuits and mass/spring systems - that is, from physics. When we study differential equations we learn to care about the initial conditions, the transient behavior, and the steady-state response. Our LTI system theory tells us that the response to an rupot X(s) rs Y(s) = H(s) X(s). How do our deff.eq. ideas map onto the LTI system/convolution story?

We can think of initial conditions as of they were sutvoducing an extra input term that is some multiple of S(t), the implie at O. So the idea is to use linearity:

system with	systen with
initial state A	> zero initial
and input x(t)	state and input
	2(+7+AS(+)

The standard transient + steady-state response is a different way of partitioning the output: y(t) = ytr(t) + yss(t) -no as +no as t-no t-no

Here we have to take the inverse Laplace transform and look at the terms to see which ones go to $y_{tr}(t)$ and which go to $y_{ys}(t)$.

Ex
Example. An LTI system is given by the following
L(CDE:

$$\frac{d^{e}}{dt^{2}} y(t) + 5 \frac{d}{dt} y(t) + 6 y(t) = \frac{d}{dt} x(t) + 4 x(t)$$
Suppose the initial conditions are $y(0^{-}) = 2$, $\frac{d}{dt} y(0^{-}) = 0$.
What all can we say about this system with imput
 $e^{-t} v(t)$?
First find the transfer function.
 $s^{2} y(s) + 5 s Y(s) + 6 = s X(s) + 4 X(s)$
 $H(s) = \frac{Y(s)}{x(s)} = \frac{s+4}{s^{2}+5s+6} = \frac{s+4}{(s+3)(s+2)}$
So two poles at -2 , -3 and a zero at -4 .

The sevo-state response is the inverse Laplace transform

 $H(s) X(s) = \frac{(s+4)}{(s+2)(s+3)} \cdot \frac{1}{(s+1)} e^{-t} u(t)$

Down a partial fraction expansion: $\frac{5+4}{(5+2)(5+3)} \Big|_{S=-1} = \frac{3}{1\cdot 2} = \frac{3}{2}$ $\frac{5+4}{(5+1)(5+3)} \Big|_{S=-2} = \frac{2}{-1\cdot 1} = -2$ $\frac{5+4}{(5+1)(5+2)} \Big|_{S=-3} = \frac{1}{-2\cdot -1} = \frac{1}{2}$ So $Y_{2S}(S) = \frac{3/2}{S+1} - \frac{2}{S+2} + \frac{Y_2}{S+3}$ $Y_{2S}(t) = \frac{3}{2}e^{-t}v(t) - 2e^{-2t}v(t) + \frac{1}{2}e^{-3t}v(t)$

The zero-support response is the response to the initial conditions @ t=0. For this we need the Laplace transform with the initial conditions added in:

$$y(t) \longrightarrow Y(s)$$

$$\frac{d}{dt}y(t) \longrightarrow s Y(s) - y(s^{-})$$

$$\frac{d^{2}}{dt^{2}}y(t) \longrightarrow s^{2}Y(s) - sy(s^{-}) - \frac{d}{dt}y(s^{-})$$

So the LCCDE becomes

of

$$(s^{2} Y(s) - s_{y}(o^{-}) - \frac{d}{dt} y(o^{-})) + 5 (s Y(s) - y(o^{-})) + 6 Y(s) = 5 X(s) - x(o^{-}) + 4 X(s)$$

To get the zero-input response we set $x(0^-)$ to 0 and find the transfer function between the mobial state and Y:

$$(S^{2}+5s+6)Y(s) = (s+5)sy(o^{-}) + \frac{d}{at}y(o^{-})$$

= $Z(s+5)$

So

$$Y_{2T}(s) = \frac{2(s+5)}{(s+2)(s+3)}$$

Donny a portial Fraction expansion: 2(5+5) | _____6___

$$\frac{2(s+s)}{s+2}\Big|_{s=-3} = \frac{4}{-1} = -4$$

50

$$Y_{2I}(s) = \frac{6}{s+2} - \frac{4}{s+3}$$

$$y_{2I}(t) = 6 e^{-2t} u(t) - 4 e^{-3t} u(t)$$

And

$$y(t) = Ge^{-2t} u(t) - 4e^{-3t} u(t) + \frac{3}{2}e^{-t} u(t) - 2e^{-2t} u(t) + \frac{1}{2}e^{-3t} u(t)$$

All of these forms - 30 so $y_{tr}(t) = y(t)$ and

 $\lambda^{21}(f) = Q^{-1}$